VAVILLARTEC Mopenb arperata: MB 3541 (Fa3oHOKOCMAKa)




VILLARTEC

Mopenb arperaTta: MB 3541 (FasoHokocwusika)

CHHCOK 3alacHBIX YacTen

Ne I1o3. [ApTrukyJ getaam HaumeHnoBanue KoJ-Bo
1 2105300161A  |bonr xperenust Hoxka 30 Mm 1
2 2105300001C  |[ITaitba KperuieHus: HoXa 1
3 21052003332000A |Hox 410 Mmm 1
4 2105300155A  |Dnaner HOxa 1
5 21011000090155A |Konmak niepeaHero koneca 2
6 30323060035000 |CronopHast raiika M8 4
7 2101100007C  |ITommmmHuk 8
8 21011000080001D |Koneco niepeanee 2
9 A26800703601A [ITaitca 12 4
10 A26800106101 |Camope3 ST4,8x25 16
11 2105300004A  [/lepxaTeb KOIECHOM OCH NEpeIHEN 4
12 121011004310001A [BTynka konecHol ocu niepeaHeit 8
13 2105300005A  |Och konecHas iepeaHss 1
14 121041000010353A |ITeperopoaka nepeaHss 1
15 21031000700353A | Kopryc ra30HOKOCHIKA 1
16 |121041000030001A [[Teperoponka 3aaHsis 1
17 A26800619201A |bont M8x45 3
18 30512050025000 |ITaii6a 3
19 60400114501 |/ABuratens B cOope 3, 4KW/4,5HP 135CC 1

20 |21011000150155A |Konmak 3aHero koneca 2
21 21011000140001B |Komeco 3amnee 2
22 30313090035000 |Konrpraiika M6 4
23 2102300001A  [PykosiTKa peryJMpOBKH BBICOTBI CKAIIMBAHNS 1
24 121021000010001A |HabanmanHk pykosiTka peryJIUpOBKH BHICOThI CKAITMBAHUS 1
25 A26800203001A [Buar M6x14 2
26 2102300002A  [Ocsb konecnHas 3a1Hs4 1
27 30213020045000 |Buntr M6x16 2
28 2103200001A  |3yOuatas macTuHa 1
29 30323060015000 |Konrpraiika M6 4
30 2109800033D  |IIpyxwuHa 1
31 2102300003A  [dyra 1
32 [21041000040353A |3ansss naHeb |
33 2102300004B  |IIpyxuHa 3agHey naneu 11x2,2 1
34 2102300005B  |Ochb 3agHe KpbIIKU 1
35 3011301004  [Camope3 ST4,8x19 2
36 [21062010620001A [HaxumHast yacTh BEAyIIEH pyYKH 2
37 121061000013201A [Hanpasnstorias Tpoca 2
38 30313060025000 [I"aiika M8 2
39 121061000020353B [[ToBopoTHast pyKOsiTKa 2




VILLAR TEQC Moaens arperata: MB 3541 (Fa3oHokocunka)

40 A26800601202A |bont M8x50 2
41 2106100003A |3armymka 22 MM 2
42 3091307004  [bonr M6x40 1
43 21063000025007A |Kprogox 1
44 2106800844A | Tpoc 830 1
45 21061000043201A |Hanpapistoras Tpoca 2
46 3051303003  [IIlaii0a 2
47 A26800501603A |Konrpraiika M6x13 2
48 3052301003  [I1laii0a 1
49 2106800128B  [Pyuka akcenepatopa 1
50 3091307017  |bont M6x50 1
51 3011301006  [Camope3 STS5x16 4
52 [21061001113201N [[ITait6a 2
53 21061007140001A |Onopa pyneBoi Tru 2
54 [21061007300001A [Kponirreitr 2
55 21061007150001A | AepkaTens Tpoca 2
56  [21061007290001A [Kppiiiika KpoHIITEHA 2
57 121063004330001A [Beaymias pydka Bepx 1
58 21063004340353A |PykosiTka BKIIOUEHUS JBIDKCHUS 1
59 A26800203301 |PykosiTka 2
60 2107500001A  [Kapkac TpaBocOOpHUKa 1
61 21071000012266A |Kop3unaa TpaBocOOpHHKa 1
62 2012200002A [ Topuesoit kimou 21 1
63 2012100004A  |Ppruar topreBoro kmoda 8x110 1




